
  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 שחזור   –' ג2202מבחן אמצע        

 פתרון 

 

 נק'(  41) : 1שאלה מספר 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 ( נק' 21) : 2שאלה מספר 

 

 נק'(  6) : 3שאלה מספר 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 ( נק' 6) : 4שאלה מספר 

 

 

 נק'(  8) : 5שאלה מספר 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  6) : 6שאלה מספר 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   נק'(  6) : 7שאלה מספר 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  6) : 8שאלה מספר 

 

 

 נק'(  6) : 9שאלה מספר 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  6) : 10שאלה מספר 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  6) : 11שאלה מספר 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  8) : 21שאלה מספר 

 

 

 

 

 

 

 

  פתרון:

                                        ((𝐵 → 𝐴) → 𝐵) ↔ 𝐵 

ויתור על אממ                 (((𝐵 → 𝐴) → 𝐵) ∧ 𝐵) ⋁(¬((𝐵 → 𝐴) → 𝐵) ∧ ¬𝐵) 

ויתור על חץ                   ((¬(𝐵 → 𝐴)⋁𝐵) ∧ 𝐵)⋁(¬((𝐵 → 𝐴) → 𝐵) ∧ ¬𝐵) 

שלילה של חץ                (((𝐵 ∧ ¬𝐴)⋁𝐵) ∧ 𝐵) ⋁ (((𝐵 → 𝐴) ∧ ¬𝐵) ∧ ¬𝐵) 

חילוף                           ((𝐵⋁(𝐵 ∧ ¬𝐴)) ∧ 𝐵)⋁((𝐵 → 𝐴) ∧ (¬𝐵 ∧ ¬𝐵)) 

פילוג                            (((𝐵⋁𝐵) ∧ (𝐵⋁¬𝐴)) ∧ 𝐵)⋁ (((𝐵 → 𝐴) ∧ (¬𝐵 ∧ ¬𝐵))) 

אידמפוטנטיות               (((𝐵 ∧ (𝐵⋁¬𝐴)) ∧ 𝐵)⋁ (((𝐵 → 𝐴) ∧ (¬𝐵))) 

חילוף                           ((𝐵 ∧ 𝐵) ∧ (𝐵⋁¬𝐴))⋁((𝐵 → 𝐴) ∧ (¬𝐵)) 

אידמפוטנטיות               ((𝐵) ∧ (𝐵⋁¬𝐴))⋁((𝐵 → 𝐴) ∧ (¬𝐵)) 

פילוג                            ((𝐵 ∧ 𝐵)⋁(𝐵 ∧ ¬𝐴))⋁((𝐵 → 𝐴) ∧ (¬𝐵)) 

𝐵)⋁(𝐵))                אידמפוטנטיות  ∧ ¬𝐴))⋁((𝐵 → 𝐴) ∧ (¬𝐵)) 

𝐵)⋁(𝐵))                   ויתור על חץ   ∧ ¬𝐴))⋁((¬𝐵⋁𝐴) ∧ (¬𝐵)) 

𝐵)⋁(𝐵))                               חילוף  ∧ ¬𝐴))⋁((¬𝐵) ∧ (¬𝐵⋁𝐴)) 

𝐵)⋁(𝐵))                                פילוג  ∧ ¬𝐴))⋁((¬𝐵 ∧ ¬𝐵)⋁(¬𝐵 ∧ 𝐴)) 

𝐵)⋁(𝐵))                אידמפוטנטיות  ∧ ¬𝐴))⋁((¬𝐵)⋁(¬𝐵 ∧ 𝐴)) 

קיבוץ                            (𝐵⋁¬𝐵)⋁((𝐵 ∧ ¬𝐴)⋁(¬𝐵 ∧ 𝐴)) 

טאוטולוגיה                   (𝑇)⋁((𝐵 ∧ ¬𝐴)⋁(¬𝐵 ∧ 𝐴)) 

שליטה                          𝑇 

 

 

 

 

 

 

 

 

 

 



  

 המבחן נוצר ע"י אוניברסיטת בן גוריון 

 

 נק'(  9) : 13שאלה מספר 

 

 : פתרון 

𝐴1) . א ∧ 𝐴2 ∧ 𝐵1 ∧ 𝐵2)⋁(𝐴1 ∧ ¬𝐴2 ∧ 𝐵1 ∧ ¬𝐵2)⋁(¬𝐴1 ∧ 𝐴2 ∧ ¬𝐵1 ∧ 𝐵2)⋁(¬𝐴1 ∧ ¬𝐴2 ∧ ¬𝐵1 ∧ ¬𝐵2) 

𝐴1) . ב ∧ 𝐴2 ∧ ¬𝐵1 ∧ 𝐵2)⋁(𝐴1 ∧ 𝐴2 ∧ 𝐵1 ∧ ¬𝐵2)⋁(¬𝐴1 ∧ 𝐴2 ∧ 𝐵1 ∧ 𝐵2)⋁(𝐴1 ∧ ¬𝐴2 ∧ ¬𝐵1 ∧ 𝐵2) 

𝐴1) . ג ∧ 𝐴2 ∧ ¬𝐵1 ∧ ¬𝐵2)⋁(𝐴1 ∧ 𝐴2 ∧ ¬𝐵1 ∧ 𝐵2)⋁(𝐴1 ∧ 𝐴2 ∧ 𝐵1 ∧ ¬𝐵2)⋁(𝐴1 ∧ ¬𝐴2 ∧ ¬𝐵1 ∧ ¬𝐵2)⋁ 

⋁(¬𝐴1 ∧ 𝐴2 ∧ ¬𝐵1 ∧ ¬𝐵2) 


